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CERTIFICATE IN NUTRITION AND CHILD 
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December, 2013 

CNCC-2 : ORGANIZING CHILD CARE SERVICES 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	Answer any five questions. All questions carry equal 

marks. 

	

1. 	(a) Describe the significance of ECCE services 10 
in the Indian context with the help of 
examples. 

(b) What are the factors that need to be kept in 10 
mind when selecting the equipment and 
play material in an ECCE centre ? 

	

2. 	Briefly describe the following : 	 5x4=20 
(a) Areas of child development 
(b) Activities for gross motor skills 
(c) Factors influencing development 
(d) Advantages of Story telling 

	

3. 	(a) What are important skills needed by the 10 
caregiver in an ECCE centre ? 

(b) What are the caregiver -infant interactions 10 
that foster the development of the child ? 

	

4. 	(a) What are the different factors that influence 10 
play ? 

(b) Describe giving examples the relationship 10 
between play and learning. 
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5. 	(a) Why is it necessary for an ECCE worker to 10 
relate with the family ? Discuss the various 
methods of reaching out to parents of 
children in an ECCE centre. 

(b) Why do we need to plan the curriculum in 10 
a pre-school setting ? Explain with the help 
of examples 

	

6. 	(a) Describe language skills of the pre-school 10 
child. 

(b) How does story telling foster language 10 
development of preschoolers ? What are the 
aspects that should be kept in mind while 
narrating stories to preschoolers ? 

	

7. 	Describe two activities each for fostering : 	4x5=20 
(a) Fine motor development 
(b) Creativity 
(c) Curiocity 
(d) Exploring the environment 
(e) Rhythm and movement 

	

8. 	Write short notes on any four of the following : 
(a) Speech problems in Childhood 	5x4=20 
(b) Animism 
(c) Parenting styles 
(d) Development of attachment 
(e) Organising outdoor space in an ECCE 

centre. 
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